o 2l o
R} a %] Alﬂ. © N m o
“,_ w — W w > E " M < g W
o > L3 S N ur 2 2 2o
o 2 ¥ M~ nru wJ m ~ =2 s M 1% Wv
@© T U o < YR R=) S a |z
= Clr- R NS = — - =zxO ° > o
8 S BEIZ g < (wn 0o 83825 £ Z £
£ 53839 ¢l 5 | 5 | s =z | < - §2|3Sony =l Nuw =
@ £ 9N S 2/ 8 |8 | 8 O |=X ox5| &2 . D
E Oy 3 gl 2 | 2 | ¢ x Mm._u mn| 258 g o L
S ~ & ° e e > ol VL w=E g fom)
3 me ” W mm MM MWW% WM Ow —
B3 © I w S| <=2 £g a = Q
V > & > ] — — c ==>D o zz = o
= z| ¢ ) O »n S| 3328 35 —u )
s3] o2 z [T ~N a 2 ez 2o o O o
52| 32 b P L X & 745 ~
el S ol. i o N _ o £5|]. O o -~
Ylg| mok 3 o O 212 A o )
W%PEPM x o (ol oo — B £ N | o<
22288 = a  |; x < < |3 Dle 5
s3ksse ¢ o 0 < |z Sl
SERESE ? 2 : - 5|5 252
wr s i} < 2
LEgE @ > 2 = & S E el =
‘wd'uw eupdzy
o O o ©O o o o o ~
S O o <@ o <9 o < Q
~ W LN F M N <« o R
() () () () () () () ()
T T T S ST €SO0 ER— €00 e g6
IS€0L + €SE0L + 200~ - - 0006 + -
2 STEOL | ZSEOL - 800~ | &\ | &5 - 0008 | -
e
8E'E0L |, 0SE0L |, 710 | , 0004 | 1
geeoL | ogeor | ChO” A 1889
Z 2%
° ZEEOL + 6EE0L - 4007 | B - 0009 + -
0E°€0L + EEEOL + €0°0- - 1895 -
LEEOL + 87E0L — L0~ - - 0005 + -
3 preor - oeeeor - oieo- | SIS & oooy | :
F M
£SE0L + Z8'E0L — ST0- - - 00°0€ + -
99°€0L |, 08'E0L | 10~ 1912 |
" 99°€0L T 18'E0L T SL0- «e [ 0007 T I
m < 82
m o &l
69°€0L - ¥8'€0L - 910" ~ €T
N 69°€0L - 8'€0L + SL0- 25 b ooo0L -
m T T w- &= an |
M orgor | wgeor | VO <e ¢e80 o
s ZEE0L |, €8'E0L | L0- € |,
n ELE0L T E8E0L T LLO- Z& [ 0000 —®
S 7£°€0L + S'E0L + LL'0- = LE'96 -
£LE0L + 98'E0L — 0LO- - - 0006 + -
18°€0L + €8'€0L + 200~ - - 0008 + -
S8'E0L + ¥6'E0L + 0L0- 4 | - 0004 + -
o} Vm ,vOnv il
3 ol NI
68°€0L | E6E0L | SO0~ | 5 .d - 0009 + -
€6°€0L + 16'E0L — 200 - - 0005 + -
£6'€0L + 16'€E0L — 900 - - 000% + -
L0W0L | LEEOL |, g | , 000E | 1
oL | ieeor | 0V0 1262
% =g
<
~ gn
78'€0L |, L6'E0L |, £0°0- | 1z |
€8'E0L | 06€0L | £0°0- || o000z T I
SEEOL + 6LE0L + 700~ | | =L o0 ¢ 1
o
\ o
m °
3 L9E0L T 0L'E0L + €007 | B B - 0000 |
E EAb
=
65°€0L + Z9°E0L — 200~ - 2 0006 + -
IS€0L + €SE0L + 200~ - - 0008 + -
87°€0L + 0S'E0L + Z0°0- =e— 6E9L
X z3
= . . e
s €70l y STE0 L 700- | g4 L 000t | 1
Zreol | oeyeor [ 1007 T €E89 |
SEE0L + 9EE0L + 100~ | | - 0009 + -
N g% &
o~ f\.,,,, ©. a_
Ll LZEOL + 1ZEOL + 900 | T - 0005 + -
|
E 6L'€0L Jl tL'eol ,oT00 | mw , 000Y | |
V“ . greoL | dveoL | 100 A 24
E q1E0L |, ZVE0l | 200 s 1Z1E
N EVE0L T LEOL T €00 | 85K 000€ | I
o >
X LRV e
“ S 80°€0L T S8Z0L + W20 | W\ ES - 0007 - -
O SO'€0L + 0620L | SL'0 o AT
5 €0°€0L + S620L — 800 - =1L oo00L -
VI 2 =e
o 33 o
N 00°€0L + S620L | 500 9260 | %
Z LO'E0L | 68°Z0L + VO - - 0000 |
| 7000 + 66200 — 100 | | - 0006 + -
3 S/ | =g
a :
= fg ®
O 90°€0L + 46701 — €10 - - 0008 + -
— 60°€0l Jl 98°¢0l €0 | , 0004 | |
_— N 6oL | tgzoL | 220 =5 t2'69
= £
LL - 70'€0L + 98°20L + 810 8219 -
O 86701 + 14701 + 40 - - 0009 + -
R o g o/o <&
2 AN
al
78201 + 1920 + €20 4 - - 0005 + -
. SE°Z0L + 95201 + 610 - 0€°€Y -
2 2200 ) 67200 L gz 2= L oooy L |
otzoL [ wzoL [ 9¢0 T 6c8e
5970 + 15200 £ w0 | | - 00°0€ + -
. e8| ..
S "2 | g2
= R -
65201 + 65201 — 000 - - 0002 + -
75201 | 65200 | gor0- (AT
3 25201+ 85201+ gpQ- - 22 F o0l T .
- 67201 1 55201 | 900" G UR
&
27700+ 05201 + 800~ | | | < [ 0000 | (™
3@ AN gs
~ [V} N ally
2 QA
=
6700 + 07200 + 600~ - o 0006 -
827201 | LET0L + 6007 £ 9198 -
B &
~ : : d
s 92201 v 9z°¢ol L 000 | g L 0008 | |
9zzoL | gzzoL | €00 98t |
~ 80°70L — 82°20L — 020- 4 =\ &L L 000¢ -+ -
2
N 9L0L | 12200 | ST0T S - 6749 -
g : : 4 %o, 5t
m 96'L0L tLzol | oizo- | 9o Y & 0009 |
sel0L | ebzoL | W0 9765
20701 + £0°Z0L + 900~ - 85 L 0005 ¢ -
0 80°Z0L + SLZ0L + 800~ | &y & - 000y -
o
IR R
1200 + 42200 + V0" - - 00°0€ + -
81201 L 8L'Z0L L 000 ic 6917
s £IZ0L T 8LZ0L T 100 o F o000z T 1
o e
N 2%
o a|—
700 + 7LZ0L + 000 oE €67 -
700 + 9VT0L + 2007 o | S. o r o000l + -
£ -
,,,, 2
&
€20 + STZ0L + 20~ 4 | - 0000 4™
€°20L + 2200 + 100 4| 22+ 0006 + -
. £
S 2 g
s E AT
"wol=
€1Z0L + L0Z0L + 2o 4 = - 0008 + -
€1Z0L + 60770, + 100 - - 0004 + -
€1Z0L + €120 + 100" - - 0009 + -
€200 + €200 — 000 BT
| 9070 + 40200 + €00 1 | FE B - 0005 - 1
16100 - 78100 — 400 1 | B8 | 58 L o00% + .
e Mpf &
N A —
% = s
Y
9¢°10L + LE10L + 900 - 2% L 000€ + -
il ae
L910L + L90L — 100 - 2L o00z &
0, ,0, ,0, ,0, ,0, ' ,0, ' ,0, ,0, ,0 | M= AV 2 | M= AV 2 (\VAVARV) 7071 G‘
e e e e e e 2
™~ D LN P m N gy o (@)
o O ©O o 9o 9o 2 o o
< < < < < < <
‘wrd'u W eupdzy > 3 S| =
e
D @ > m >
- — (-
— O y n
< O .= O = o
=z = C Q| = —
T N c  + o N
n c | D e O ]
L > > ‘0 [
=z O () Q - - @) —
S c c L c c F5 O
- 9 © c ¢ v g5 &
s O O N E E = @)
S N N O o @ T =
o X ¥ w w O X




	Arkusze i widoki
	DR06


